TAXIDERMIST’ WOODSHOP
1708 E SCOTT AVE
WICHITA FALLS, TX. 76301
(844)351-8800 OR (940)500-4918
sales@taxidermistwoodshop.com www.taxidermistwoodshop.com

Wild Boar Wall Pedestal Assembly Instructions

Included Materials:
1. (1) Back Plate (12 x 15) 5. (2) #8 —32 x 1 1/4” Machine Screw
2. (1) Jaw Plate (6 x 9) 6. (2)#8x 1 1/4” Wood Screw
3. (1) Pedestal Block 7. (1) Hanger with Screws
4. (1) #10 x 2 1/2” Screw

1. Assemble Pedestal

First install the hanger on the back of the back plate.
Using the (2) #8 — 32 x 1 1/4” machine screws attach the pedestal block to the back plate
and jaw plate.

2. Attach Jaw to Jaw Plate
Set the full skull on the pedestal to see where to predrill your holes. Now you will
pre drill you holes through the bottom of the jaw plate. Using a 3/16” drill bit drill two
holes side by side so that they hit the center of each side of the bottom jaw. Now counter
sink the 3/16” holes with a 3/8” drill bit about 3/8” deep. Set the full skull back in place
and mark where your screws will come into the bottom jaw. Using a 1/8” drill bit, drill
the pilot holes in the bottom jaw. Now fasten the jaw to the jaw plate using the (2) #8 x 1
1/4” wood screws.

3. Closed Mouth Option
For the closed mouth option, the skull may be just set in place on top of the
jaw, or it may be glued or epoxied to the jaw.

For the open mouth option, drill a 3/16” hole through the back plate, so
that a screw may be put into the back of the skull. Set the skull in place in
the closed position and then rotate the mouth open. With the mouth open
mark where the pilot hole needs to be drilled in the back of the skull. Using
a 1/8” drill bit, drill the pilot hole in the back of the skull. Set the skull

A { back in place and fasten it to the back plate with the #10 x 2 1/2” screw.
S

‘

Copyright 2012 The Taxidermists’ Woodshop. www.taxidermistwoodshop.com


mailto:sales@taxidermistwoodshop.com
http://www.taxidermistwoodshop.com/

